Maytag MFS35PNFTS 08 - DRIVE

10-Mar-05

504 362A
Maytag Commercial Maytag MFS35PNFTS Washer Parts Parts Diagram 08 - DRIVE

Click on the part number to view part

Item Original Part Number Replaced By Status Part Description

001 23004401 Pulley, Motor

002 23004402 Motor Counter Weight
004 23004403 V-Belt

005 23003676 Nut M12

006 23004404 Pulley, Drum Mfs35
007 23004082 Motor 240V 3 Phase
008 23003591 Washer

010 23004405 Mounting Plate, Motor
011 23002661 23001283 Bolt

013 NLA Not Available SCREW (M16X110)
015 NLA Not Available NUT (M16)

016 23001735 Washer M17

017 23003402 1Szp;ing Lock Washer 16 Din
024 NLA Not Available WASHER (10.5)

025 23002658 Washer

027 23004040 Bolt M16x50


http://www.pwslaundry.com/c-299401-commercial-maytag-mfs35pnfts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799819-maytag-23004401-washer-pulley-motor.html
http://www.pwslaundry.com/i-7799820-maytag-23004402-washer-motor-counter-weight.html
http://www.pwslaundry.com/i-7799821-maytag-23004403-washer-v-belt.html
http://www.pwslaundry.com/i-7799189-maytag-23003676-washer-nut-m12.html
http://www.pwslaundry.com/i-7799822-maytag-23004404-washer-pulley-drum-mfs35.html
http://www.pwslaundry.com/i-7799509-maytag-23004082-washer-motor-240v-3-phase.html
http://www.pwslaundry.com/i-7799135-maytag-23003591-washer-washer.html
http://www.pwslaundry.com/i-7799823-maytag-23004405-washer-mounting-plate-motor.html
http://www.pwslaundry.com/i-7797837-maytag-23001283-washer-bolt.html
http://www.pwslaundry.com/i-7798076-maytag-23001735-washer-washer-m17.html
http://www.pwslaundry.com/i-7798993-maytag-23003402-washer-spring-lock-washer-16-din-127.html
http://www.pwslaundry.com/i-7798528-maytag-23002658-washer-washer.html
http://www.pwslaundry.com/i-7799468-maytag-23004040-washer-bolt-m16x50.html

036 23004040 Bolt M16x50

laundry company*

laundry company*

laundry company*


http://www.pwslaundry.com/i-7799468-maytag-23004040-washer-bolt-m16x50.html

	Maytag MFS35PNFTS 08 - DRIVE

